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gdb

gobogoboogd

oo

gdb0 0 O00OOGNUOgeccODOODDOODOOOODOOOOODOQGDBOOOOOODOOODOOOOO
gobooobboobobbooobbuooobbuooobbooooo

HRN
gdb(0 O)O O)
HRE

-cdj00oOoOooon
-qO00dobbooobobbooobooboa
-dj0o0ooogooon
-xJOoooooooebBO OO
-sQUb000ooboOooon

fle<OO OO0OO0OOOOODOOOOO<br />00000000C000000000 (gdb) file
0> ooGDhBUOODOODOODOOOO gdb-sample

r RunDOOOOOOOOOOOO<br />000000000000000O (gdb)
oo0o0o0ooboboooboooooboooboobooooo g

C ContnueOO0OO0OO0OO0OO0OO0OO0OO0OO0OO0OO0OO0OO0OO0OOOOOOOOOOOO (gdb) ¢
b <O

O ><br
/>b <00
O00><br
/>b <00
00><br
/>b<00
od>d
(00]

b: BreakpointO O OO0 DO OO0DOOOOOO* oOd” “ Ooo0oor 000
0" 0000000000 <br /0000000000 " 000000
OO000* 0D000O00Oprologd OO OOODOOOOODOOODOOOO
OO0GdQgd: Delete breakpoint0 00000000 DODOOOODOOOOO
0000000010000 (gdb) b8(gdb) b main <br /> (gdb) b main
<br /> (gdb) b *0x804835c (gdb) d

ss000000000DOCO000oDOoo00ooo0ooooOogds<br
/>n: 000000000000 00DO0ODO0O0O0b0ObOOgsboboon
s, n O0O0O0O"StepInto(0D0CO0O0O) O<br />nO000000O00ODO
O“StepOver (OO0OD0O) 0 0O00DO0ODO0OODOOOOOOOOOOO
gopopeccoooono*“g'oonon

siDO0000sO00n00000NID00000000000Osi/nO0O (gdb)si<br

(gdb) s <br
/> (gdb) n

Si, ni

O00O00O0O0O0OOsmMOOoOoooooo />(gdb) ni
<00oQg (gdb) pi<br
E> PrintO 00 0000000000000 OLO0O0OOOOO /> (gdb) p
nGlobalVar

dispyjU 0D ODDOD0DO0OO00D0ODODO0OO0ODOO <br /000000000
display.. 0000000000 DDO0OO000OODOOO00OOODODDOOO <br /> (gdb) display
undisplay “display /i $pc” <br />00 $pcO0 000000 OQMOODOOOOOOOO /i $pc (gdb)
<0 0> 000000000000 000000Qundispaly]d OO 0O Odisplayd O 0O undisplay 1
godigoodn

[ inffo0 0000000000 0000D0OO0“helpi™d (gdb)ir
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q QuUitD 0O DOOOGDBOOOODO (gdb) q

GDBOOOOODOOOGDBOODOOODOOOODO<br /00000 OO
help [0 O

00] o bgobboooboboooobooobobooobbuoooobooo (gdb) help
oGbBOOOODOOODOODODODOO

gd
gboobogoboooooo

gd
O00lnuxOdghODDODO0O0OOO0OO0O0ODOO0O0OOODODOODOQCOOOODO

#include <stdio.h>
int nGlobalVar = 0;

int tempFunction(int a, int b)

{
printf("tempFunction is called, a = %d, b = %d /n", a, b);
return (a + b);
}
int main()
{
int n;
n =1;
nN++;
n--;
nGlobalVar += 100;
nGlobalvar -= 12;
printf("n = %d, nGlobalVar = %d /n", n, nGlobalVvar);
n = tempFunction(1l, 2);
printf("n = %d", n);
return 0;
}

0000000000000 00 gdb-samplecO00000000D00OD0O0OO0DOOOGCCOOODO
gcc gdb-sample.c -o gdb-sample -g

O0O0000oCo0o000 -oO0DOCOO0ODOOOODODOOOO gdb-samplejd 000 -g0OOODO
000000000000 0D0000000 -gQUbOOoOooGbBOODOOODOODOOODOODODOO
ooobobooobobuob gObobo/obobobDoboboboboo/uDbo

O0“gdb"0000GDBODOOOOGDBOOOODOOO

GNU gdb Red Hat Linux (5.3post-0.20021129.18rh)
Copyright 2003 free Software Foundation, Inc.
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GDB is free software, covered by the GNU General Public License, and you are
welcome to change it and/or distribute copies of it under certain
conditions.

type "show copying" to see the conditions.

There is absolutely no warranty for GDB. Type "show warranty" for details.
This GDB was configured as "i386-redhat-linux-gnu".

(gdb)

ooooo0O*(gdb)’O0GDBO 000 O0O0OOOOOOOOGDBOOO

OD0O0O0“fle' 00000000 gdb-samplef]lU 00 gdb-sample 000 GCCOOOOOODOOO
ggd

(gdb) file gdb-sample
Reading symbols from gdb-sample...done.

dddddoooooouooooo

OO0oOo“00b00pfRunCOD0O00D0O0OO0OOODOOODO0ODOOODOODOODODOODOO

(gdb) r

Starting program: /home/liigo/temp/test jmp/test jmp/gdb-sample
n = 1, nGlobalvar = 88

tempFunction is called, a =1, b = 2

n=3

Program exited normally.

OO0O00"000 mainO0 OO0 0O0OOODO OO [OBreakpoint]]

(gdb) b main
Breakpoint 1 at 0x804835c: file gdb-sample.c, line 19.

O000000000000D000000D000000DO000000 gdb-sample.cO0190000000
O0000DO000C0000DO010b000DO0000DD 0x804835c b DboooOoboboOoDO
O00000000000pD10o00000“n=1"C00 maind0O0O00O0CO0O0OOOOO0OOO
O“intn;"000000000D0OCO0O0OOOO

OOooOo“00b0b0prRunObCOCOn

(gdb) r
Starting program: /home/liigo/temp/gdb-sample

Breakpoint 1, main () at gdb-sample.c:19
19 n = 1;

OO0O00dgdb-sample.cd 0000 0main0 00 0000O0ODOOOO
0000000000000 00D0O0DoOooDOO“n=1,"J0000000gdb-sample.cd 001900

O0O00%"000Stepf0 0 0O00O0OOODO190“n=1;"00

(gdb) s
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20 n++;

O00b0o0ooobood“=1"00000000000O0O0O00O2000 “n++;"0

O000000“=1"00000 n000100000"000PMntQ0 0000 nODOOOO 10

(gdb) p n
$1 =1

o000 000000 oboo"p"db—0O0b00"pn0O0O" $2=1" —0O00O00OO
goboooo

O0000000200tempFunction0 000000000000 OCODOOO"b26"b
tempFunction”[J]

(gdb) b 26

Breakpoint 2 at 0x804837b: file gdb-sample.c, line 26.
(gdb) b tempFunction

Breakpoint 3 at 0x804832e: file gdb-sample.c, line 12.

OO0“c"0000pContinuej0 00000000000 OODOOODOOOO000000000O
nGlobalVar 0 OO OO 8 UIDIODODO“c"000000DOOOODODODO120 JtempFunction 00 O
O000OOtempFunction0 000000 afbO00OO0O0O 10 20

(gdb) ¢
Continuing.

Breakpoint 2, main () at gdb-sample.c:26

26 printf("n = %d, nGlobalVar = %d /n", n, nGlobalVar);
(gdb) p nGlobalvar

$2 = 88

(gdb) c

Continuing.

n =1, nGlobalvar = 88

Breakpoint 3, tempFunction (a=1, b=2) at gdb-sample.c:12

12 printf("tempFunction is called, a = %d, b = %d /n", a, b);
(gdb) p a

$3 =1

(gdb) p b

$4 = 2

dddddooooouoooogdg~~

O0O0O00"000ContinueJ0 00 0C0000DOOCOO0OOODOOOODOOOO

(gdb) c

Continuing.

tempFunction is called, a =1, b =2
n=3

Program exited normally.
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gdb

gobogobbooobooobboooboboobobooobbooobobooon

00000 displayD O “display /i $pc’0 00 000000000000

(gdb) display /i $pc
(gdb)

goboooobobooobboonooooon

(gdb) r
Starting program: /home/liigo/temp/test jmp/test jmp/gdb-sample

Breakpoint 1, main () at gdb-sample.c:19
19 n = 1;
1: x/1i $pc 0x804835c <main+16>: movl $0x1,0xfffffffc(%ebp)

O00D00000"n=1,"00000000 “movl $0x1,0xfffffffc(%ebp)”[]

O000000O000o0ooOo0ooooooop“si"cdgoooooonooo0—>o0oo“s"0oooc

good

(gdb) si

20 n++;

1: x/i $pc O0x8048363 <main+23>: lea Oxfffffffc(%sebp),b%Seax
(gdb) si

0x08048366 20 n++;

1: x/1 $pc 0x8048366 <main+26>: incl (%eax)

(gdb) si

21 n--;

1: x/i $pc O0x8048368 <main+28>: lea Oxfffffffc(%sebp),b%Seax
(gdb) si

0x0804836b 21 n--;

1: x/i $pc O0x804836b <main+31>: decl (%eax)

(gdb) si

23 nGlobalvar += 100;

1: x/i $pc 0x804836d <main+33>: addl $0x64,0x80494fc

0000000000 *<O00oo>" 0

000000000000 000000000*d"00——Delete breakpoint[J]
(gdb) d

Delete all breakpoints? (y or n) y

(gdb)

Oo0obOobooobobobooooYy"boboooboo

000000 *main”0 main 000 prolog 0000000 [prologlepilogld 0000000000

gddoooooooooon

(gdb) b *main
Breakpoint 4 at 0x804834c: file gdb-sample.c, line 17.
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(gdb) r

The program being debugged has been started already.

Start it from the beginning? (y or n) y

Starting program: /home/liigo/temp/test jmp/test jmp/gdb-sample

command:gdb https://rd.irust.top/doku.php?id=command:gdb

Breakpoint 4, main () at gdb-sample.c:17

17 {
1: x/1i $pc 0x804834c <main>: push %ebp
(gdb) si

0x0804834d 17 {
1: x/i $pc 0x804834d <main+1l>: mov %esp,%ebp

(gdb) si

0x0804834f in main () at gdb-sample.c:17

17 {

1: x/i $pc 0x804834f <main+3>: sub $0x8,%esp
(gdb) si

0x08048352 17 {
1: x/1i $pc 0x8048352 <main+6>: and $OxFffffff0O,%esp
(gdb) si

0x08048355 17 {

1: x/i $pc O0x8048355 <main+9>: mov $0x0,%eax

(gdb) si

0x0804835a 17 {

1: x/1i $pc Ox804835a <main+14>:
(gdb) si

19 n = 1;

1: x/i $pc 0x804835c <main+16>:

sub %eax,%esp

movl $0x1,0xfffffffc(%ebp)

OOoooooYrod0o0Dooooogd——="ir"o* Infomation Register”[]

(gdb) i r
eax Oxbffffead -1073744220

ecx
edx
ebx
esp
ebp
esi
edi
eip

cs
Ss
ds
es
fs

gs

goboooobbooobbooonooog

(gd

0x42015554
0x40016bc8
0x42130al14
Oxbffff6al
Oxbffff6a8
0x40015360

1107383636
1073834952
1108544020
Oxbffffo6al
Oxbffff6a8
1073828704

0x80483f0 134513648
0x8048366 0x8048366
eflags 0x386 902

0x23 35
Ox2b 43
Ox2b 43
0x2b 43
0x0 0

0x33 51

b) i r eax
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gdb

eax Oxbffffead -1073744220

00000000000 ]000QuitIGDBD 00 0O O

(gdb) q

The program is running. exit anyway? (y or n)

oo

gdbO00O0O0O0O0O-LinuxCOOOODOOO-000

oodoooo,0o00ooouooooon
gcc -g gdb.c -o gdb.out # -g O0OgdbOO;

gdb gdb.out # OO gdb OO OO
enter # OO0 O0OOOOO
1l #00000,00100,0 100

start # O0O0O0OO0O,00 main() OOO
pa#00 abO0O

n #00O0O0O0O0O

s # 00000

bt # 00000

fl# 00000

g 000D
gogod
#include <stdio.h>

void change(int a, int b
int tmp=a
a=b; b=tmp

void change2(int *a, int *b
int tmp=+a
a="b b=tmp

int main
int a=5,b
change(a,b
printf("change:\na=%d\nb=%d\n", a,b
change2(fa, b

printf("change2:\na=%d\nb=%d\n", a,b

-o 0O0O,000 a.out
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